Answers: Basic Motion Problems: Distance, Velocity, & Time
1. 
70 miles per hour

2. 
Yes; exceeding by 10 mph

3.   
2.29 m/s (assume length of pool is quite exact)

4. 
No; he took more time, and had a lower speed.  (I have to edit this question – it’s just too dumb.)

5. 
Yes, because the swimmer averages 2.42 m/s

6.  
5 hours

7. 
55 minutes; 5.25 miles + 0.5 miles = 5.75 miles
8. 
t=d/v = 55miles ÷ 65mph = 0.85 hours = 51 minutes

9.
t=d/v = 80 miles ÷ 65mph = 1.23 hours = 74 minutes = 1 hr, 14 min

10.
t = d/v    t1= 63 miles/35mph = 1.8 hours
     t2= 45 miles/55mph = 0.82  hours


t1 – t2 = 1.8 hours – 0.82 hours = 0.98 hours  = 59 minutes

